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✗ C- Z
,
10 IX E 99

✗ = (y 2) ,
= 5g +2 ,

✗ = 2 mods

43T = -4J en Zq,

- 4-8 = 4-3
,

✗ = 4-3.4-3-1=1
,
en Zq , ,

✗ = 1 mod 91
.

{ Í {mm! } , (Sias) =L
.

Por tanto
,
podemos aplicar

el algoritmo chino del
resto

.

Pts-01 MI, Hi-FI
PEZ UK . MK = 1 mod Mk

|us⇒ ,

uz-5=-1 mod 91
;
¿ 5- ' en Zara ?

(1) 91 = 18.5 + (1) ,
1=91-18.5 .

(2) 5=1-5 1- O ha = - 18 .

= 73
.



Hif µT

Pts03 "

Ki-In

Pts-4 ; Wz = ( 1-2) 73 mod 91
,
Wz = -73 mod 91,

M€8 / -7-3=1-8 en Zq,)

bz = 21-18.5 = 92
, |bz=92]

PAIS :

✗ o
= 92

Pts-06 : ✗ = 92 1- K 5091 ,
KEZ

.

De dos cifras sólo hay una solución 1*927

✗ = (y 2) g , 0<-414
1

2 EXE (4.5+2)
2 { ✗ & 22

,
entonces :

f.poqxezzf.tntanto
,

no tiene solución
,
no existe ningún × .




